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[x] B4 {x} mUPNFLULNN CUMUUUNNFULGNh LAFOUUL UUURL

Uhnw Ywypjwl

Wfuwinwbpn Gypnywo F pnwlwl pyh wdpnno L Ynuinnpwuyhl dwubn wiwnn:-
Guwlnn npny hwdwuwnnidGenh (niddwl wygnphpdh drwlhdwlp L Gpnw hhdwl dnw
UnGlynbun hwgwuwnnedognh (ncodwan: Upu pGluwyh niuncdGuupnniysinian nipwnnnigiul
wndwah F hwnbuwiwbu wywaq nwnngh plwghunwdwpblwnpluwlwl hnup pGunnwd un-
ynnnnlbbnh hwdwn: Ldwluwwnpu JundnuyginiGa6n Gunh F inioly wpunwnwuwpwiw-
Quil fudpwluyhl wwnwiwdntGplbnh dwdwawly:

Gwplinn hwOqwdwGp £, nn unynpnnbbnp, ppnwlwl pyh wdpnne L Gnunnnpuwluyhl
dwubph  dwupl  uwhdwGndGepl - niuwlbinig  pwgh,  swlnp  (pOGG (x) = [x]
pnralghuyh nnny huwiinlnipintGGGRAL.

1. VxeR;neZ hwiwn

[x+n]= [x]+[n]=[x]+n

2. tpt a,b e R; [a]=[b] wuw |a—b| <1

3. VxeRineN muup [nx]=[nlx & {%} ) {ﬂ

4.Nne N, hwiwn [g} + [HTH} =n

Ununwnwuwnwowlwl fudpwlGbnh L Gwfuwupnwhwl wwnpwwdniGplenh nwuw-
dwibnhlG unynpnnbbnh nipwnnnieiniap Gunbh F pbbrby 10-nn nwuwnwah gnndnn [1]
nwuwagnph phy 347 q L phy 372 £, p YundnipgintGlaGnh, hlswbu Gul 12-pn nuuwpwioh
gnnonn [2] nwuwagnph phy 862* L phy 863 JuwndnuyginiGlbnh L Q.Uhpuwybywih [3]
gnph phy 231 L phy 240 JwndnipiniGGGnh (niontdabnph:

<wywuunnidabn (nedbihu hwpdwn F oquiyty

X = [x ] + {x } (1)
GnylGnipiniGhg: Uuuinbnphg

[x] =X- {x} 2)

{x } =X- [x ] (3)

PEnLGp Uh puunp hwdwuwnnidabnh (ncontdGbnn (2] nwuwagnphg.

" Znnqwiéh plnnLyby £ 20.09.2014:
<nnjwép nwuwgnniwl b Gpwiuwynpt) UpM< dwpbiwwnhywih wdphnbp:
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862* w) 3{x}+ 2[x] =5

Oqundbiny  (2)  GnylrnipiniGhg L wnbnwnnpting [x] - h wnpdbpn  wnnywo
hwywuwndwG v6e™ YniGEGwlp®

3{x}+2x—2{x}=5

npunbinhg

{x} =5-2x

Lwihnn 0 < {x} <1, plsp hauinlkined t (3)-pg, Yuunwiwlp 0 <5—-2x <1, nmunbinhg
hGwnlmd £, np x e (2;2,5] ; <Gunbwpwn® [x] =2 SGnwnnptiny [x] =2 wndtpp
3{x}+ 2[x] =5 hwywuwndwl ey’ uinwOwlp 3{x}+ 4=5, nuntnhg " {x}=1/3:(1)

1
anyGnugintGhg uunwGnd GGp x = 25 :

b, 2{x}+[x+ﬂ =5

Oqunytiny (1) L (2) GnylGnuginiGabnhg YniGEGwGp®

)

Nunbnhg

OSl 5—{x+l} <1
2 3

LnioGny uinwigdwo wohwywuwnnidn YuunwbwGp

3< {x +% <5, njunbnhg hbwnlind f

[x+l}=4 sz[[x+l}=5
3 3

Uwnwgdws  wndGplbbpnn  wnGnwnnpbiny  vhygpowlwl  hwywuwndwl( — 06p
YniGGawlp {x} = % yud {x} =0 . Oqundbny (1) GnylGnipintGhg, uwnwantd Gap x = 4,5

quwd x =5 :

q) [x]zx/9—x2

Oqunbynd (1) L (2) GnylnuginiGOEpAG YniGEGwlp 0 = = —+'9 — x2 = 1.
Lniotyny Ynllwlh wohwdwuwnpnedp, uunwlnid G0p°

{ 1+\/ﬁ
xe|0,

> ] nunbinhg [x]z 0,1,2
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Mhuinwnlyblp wyu nGupbnhg jnunwpwlsninl wewbdhi.
1) hgnip [x] =0
—
Uu nbwpmd xl'g-xf=0, nph wpdunnbbpp 66 x =%3, npnip 560 pudwpwpnd [x]=0

wuwydwiha.

2) gnip [x]=1

Uu nbupmd Lu 9 — x?=1 hwdwuwpdwl wpdunlbpp s60 puwpwnpnid
[x]=1 wuyswapa:

q) Yyt [x]=2 ntwyop:
Uwnwnid  Gap Vo -xZ=2 hwiwuwnnedp, nph dhuyl x = \/g wndwnl f, np

pwwnwinnd f [x] =2 wuwydwahi:
) YunwnlGlp d6ly wyy hwduwawnntd.

[x]~(x2 +x+1)= 4
Uuntnhg
4
= 4,
[ x4+ x+1 @
LPuwlh nn [x] € 7, wuw npwbugh inbnh ntGGGw (4) hwywuwpniginiln, whwnp ¢
X -p hwanhuwlw
X' +x+l=-1
x*+x+1=1
X rx+1=-2
i (%)
X +x+1=2

x> +x+1=—4

X +x+1=4

hwiwuwnnidG6nh hwdwfudph (nidnidp.
Uwnnignid GGp hwdwfudph inupwpalsingn (niddwl hwiwwwiainwufuwanygindan

[x] - h hGwn puwn (4)- h L uinwGned hwdwuwndwG wndwanp™x = \/1_:; _
863* w) 31g” x+2[x]=6 (6)
(6) hwwuwnndp GGpluywgbtap wy inbupny’
g x= 5" 2[x]
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<updh welbing, np (nquinfpdwlwl pniblghuyp npnpdwl whpnypp npwlwl pybph
pwqdnipint06 F L hwywowndwl dwfu dwun ns pugwuwluwl phy f, YniGGhwlp

x>0 >0
QQ%QZOCDﬁﬂs3

nunbnhg hGuinlinid F, np [x] € {0;1;2;3}.' ULdhowlwl uinniqiwl dhongny uwnwlned
GOp, np wnwgws wpdbplbphg dpuyl [x|=0 wpdbpl F o punwpwpmd  (6)
hwiwuwndwlp: YniGEGwip

g’ x=2
[x]=0
nmunbinhg “x = 1072
7) 3sinx|+2[x]=6 (7)
" 6—2[x]
<wywuwnnidhg uunwGnid Glp |sm x| = :
. 6—2[x] ‘
0<sinx<1  wohwywuwpnidhg hbwnbmd 0 < <1, nmntnhg

L5< [x]S 3, wyuhlipl * [x]= 2 buw [x]= 3

. 2
Enp [x] =2, wuww |sm x| = g ,  nph o nionidbbnhg (7))  hwywuwnpdwin
.2
pwywnw-pmd b dhuyl x = 7 — arcsmg wndbpn:
bnp [x] =3, wuww uwnwlnid Gap |sin x| =0, nph ndmbbnpl 66 x = 7k, k € Z :
U jniontdlbnhg (7) hwywuwndwln pwywnuwnnd | x = o wndbpp:

.2
Nunn. ' X = 70,77 — arcsmg

Munwnltlp Lu dh pwlh hwdwuawnnidabn [4]:
Lnioty hwdwuwnnidp

231 [5+6x }: 15x—7 )

8 5
Oqunylynd (1) GnyGnupintGhg yntGG&Gwlp

5+6x| _5+6x |5+6x
8 8 8
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S5+6x 15x-7

8

huly wnpdwo (8) hwywuwnnidhg { }- h hinfuwpbl  wnGnwnnpny

YniGGawiGp
5+6x S5+6x 15x-7 5+6x 81-90x
8 8 5 8 40
Luwih nn 0 < {x}< 1, nuinp 0 < 81-90x <1, npuntinhg’
41 9
— < X< — 9,
90 10 4
<wipyh wrlbng uunwgyws dhowluwypn ndywn st uunwluwy
1 15x-7 13
—< <—
30 5 10
whhwdwuwpnuinean: (8) hwidwuwnnidhg hGunbnd £, np [5x=7 - n wdpnng phy |t
hbGwnbwpwn®
15x-7 _0
5
15x-7 1
5
7
X = E
opunbinpg 4
xX=—
5
41 9 7 4
/) anid 66| —;,— | dhowluwyphl: Mwwn.— ;—
npnlp wuwnluwln [90 10) howlyuyph 15°3

240. Muwnwnlyblap
\/x+ [x] +\/x—[x] =1 (10)
hnwghnOwy hwdwuwpnedp: UG GeEpluywgbbap

\/x+|x|=1— x—|x

wbupny. Unnwgdwds hwdwuwndwl we L dwfu dwubnp pwrwlniup
pwndnwg-Gentg L wwnquanyb dhunhnfuniygintGaGnhg hbuwnn uuinwGuwp.

2 _4)C—1
b =45

K<
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Npuntinfg’ x = =

Makap [x] < % , hGuwnluwpwn [x] =0, wuplpl % =0,

1 1
Uunbinhg x = Z , npl by pwdwpwpned F(10) hwywawndwGp: Muwen.” Z

Wuwpuny  puyp [x] L {x} wwnniGulinn wewownnwlplbnn (niéGhu pwywlwl f
oquby (1) Gnybnugintbhg L, hwpdh wreGbing (2) Unblawlh wohwywuwnnedn, paunty
[X] -n, npp pwdwnwnnd fundwo hwdwuwndwanp:

dGnontd GpLap, nn pyh [x] L {x} wwinpniGuwlnn wpwownnwlplbnh hbuiwpnphn
qnuphlywlpuul  jniondabn  unbh  F oqunaly  N.LUpwpbywGh  [4]  dGpnnwlwl
dGnlwnlyniu:

ouunfuarnte3nruutM

1. QLnpgwb 4.4., Uwhwywl U.U. <wlpwhwhy L dwpbdwunhywywb wlwihgh
tnwnptn: Ujwg nwpngh 10—-nn nwuwpwbh nwuwghpp (pGwghunwidwpbiwwnhyw-
Ywah hnuph hwdwp): 6n., 2011, 206 t9:

2. Qunpguwb Q.Q., Uwhwywlt UU. <wbGpwbhwzhy L dwpbdwwnhywywb wlbwihgh
wnwpptbp: Ujwg nwpngh 12—nn nwuwpwoh nwuwaghpp (ptwghunwdwpbiwunhyw-
ywlb hnuph hwdwn): 6p., 2011, 208 to:

3. Uhpwjtywl Q.U., Swppwywb dwptdwwnhywih dGpnnltpp hwOpwhwynid: Gn.,
2006, 664 t9:

4. Unwpbpywb N.L. Uwptiwwnhywywb fubnhpbeph (nuénuibeph gpwdphywywl deyhw-
pwOnientbGbtipp: Uik, 2008, 125 ko:

uvonoughn
[x] h{x} wwpnLowynn hwywuwpnuiGtph (neédwb dwuhb
Uhnw "wypjwl

Uwptiwwnhywh nwpngwywb nwupbpwgntd f(x)z [x] 6} f(x): {x} pnLhyghw-
GGph dwuhb 2wwn phs t funugnid, neuncdbwywb pwagnbpnud pngpywé skt pyp wd-
pnno L Yynuninpwywiht dwubp wywnpniGwynn wewownpwbpbtph Juunwpdwb wignphp-
up: Uwyw)l winwhuh wewownpwbpbtn hwidwfu 60 hwonhwntd wewpywjwywb ofhd-
whwnw(bph wnGpuwntpnid, npp L npnwyh ndjwpnegndl £ wewowglnud pE ntunighs-
GGnh, pE unynpnnGBph dnun: UWuwunwbpnid nhunnwpywé 60 hpwywb pyh wdpnng L
ynunnpwyuwihb dwubp wwpnibwynn npnp hwywuwnnuiteph (nuédwb wignphpdp:

Pwlwyh pwrtn’ pyh wipnne dwu, pyh Ynuinnpwluyhl dwu, pncGlghw, hwdwuawnnid,
[NLOUWl wyqnnfpd, (niddwl yennidnypintG:
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PE3IOME

Pemienue 3a1a4, copgepKaliux Heay0 U APOOHYI0 YacTh YHcIa
Awupna JlapuasaH

B mporpamme mIKOJIBHOTO Kypca MaTeMaTHKH BKITIOUEHBI OT/ICIbHBIC BOIIPOCHI, CBSI3aHHBIC C
MOHATHEM LENOH M JIpoOHOH dYacTH MAEHCTBUTENBHOIO 4YHCIA. AJNTOPUTM peIICHHS 3ajad,
comepxammx [x] W {X} He HM3y4alOTCA B INKOJIE YYEHHKAMH, HO YacTO BCTPEUAIOTCS Ha
OJIMMITHAJax MO MareMaruke. Llesp craThi MOMOYB ydYamIMMCS HMO3HAKOMHTBECS C alrOPHUTMOM
peLIeHHsT HEKOTOPBIX TaKUX 33134, KOTOPBIE IPUBOJAT K CTAHAAPTHOMY CIIOCOOY PEICHUS.
Kntouesvle cnosa: yenaa uacme yucna, OpoOHAA 4acmy 4ucia, QYHKYUs, ypasHeHue, aneopumm
peuienus, aHanu3 pewenu.

SUMMARY
The solution of the tasks containing integral and fractional part of the number.
Aida Davidyan

Some questions related to the notion of integral and fractional parts of a real number are
included in the mathematics program at school. The solution algorithm containing [x] and {x} is
not studied deeply at school by pupils, but is often encountered at the olympics on mathematics.
The aim of the article is to help pupils get acquainted with the algorithm solving of some tasks,
which lead to the standard method of solution.

Keywords: the integral part of the number, the fractional part of the number, the properties of [x],
algorithm solutions, analiz of the solutions.
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